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Paper Code 2016 (A) Roll No.

Number: 02 /] | INTERMEDIATE PART-I (11" CLASS)

ENGLISH (ELECTIVE) PAPER-I TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

Fill up the bubbles by choosing correct words out of the options given below:- 7
(1) The golden rule of my life hasbeen  and not excess.

(A) elation (B) moderation (C) show (D) lavishness
(2)  The acts were the revenge of the squire for the act.

(A) Reform (B) old (C) basic (D) radical
(3)  They came bustling along the

(A) road (B) river (C) wall (D) passage
4) Itis that they should so often have to make the choice.
(A) good luck (B) chance (C) unfortunate (D) rare

(5)  The club athlete then can enjoy his ~ to the utmost.

(A) role (B) practice (C) sport (D) competition
(6)  Thatis why they are not every man’s

(A) concession (B) diversion (C) formation (D) activation
(7)  Our presence had been timed for the  “*, of his coming.

(A) hour (B) moment (C) day (D) month

Choose the correct synonyms of the underlined words and fill up the bubbles. 7
(8)  Itis frequently asserted that with women, the jobs come first.

(A) Denied (B) Accepted (C) Postponed (D) Stressed
(9)  More courageously determined are the female workers.

(A) Busy (B) Free (C) Resolved (D) Involved

(10)  Self assertion is a kind of megalomania.
(A) Physical disorder (B) Mental disorder (C) Muscular disorder (D) Sadness

(I1)  Very often he had a genuine love of the beauty of flowers.

(A) Real (B) Faithless (C) Sincere (D) Credible
(12)  The people living in slums usually talk much.

(A) Posh areas (B) Upper areas (C) Poor areas (D) Hilly areas
(13)  We found him deliriously speaking on the death bed.

(A) Wisely (B) Insanely (C) Frankly (D) Fluently
(14)  The past i1s often uncongenial as compared with the future.

(A) Unreliable (B) Uninvited (C) Unattractive (D) Unfavourable

Fill up the bubbles by choosing correct options given below:- 6

(15) To warm my breath, to slack my .

(A) ride (B) tide (C) slide (D) stride

(16)  The poem, “The Man He Killed” is composed by :

(A) D.H. Lawrence (B) S. Spender (C) W.W. Gibson (D) Thomas Hardy
(17)  Far from the grey and grimy

(A) heat (B) sunshine (C) evening (D) shade
(18) We watched the mowers in the

(A) field (B) school (C) hay (D) clay
(19)  And finally call him by his

(A) relation (B) arm (C) name (D) dress
(20)  Straight down to the guarded

(A) river (B) canal (C) stream (D) spring
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2016 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)
ENGLISH (ELECTIVE) PAPER-I TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book, as given
in the question paper.

SECTION-I

2.(A) Answer any five of the following short questions from “A New Anthology of Essays” 10
(1) How is bull fighting a part of Spanish life? (The Spanish Bull Fight)
(i) ~ What does expert say about trout fishing? ( My Fish Pond)
(m1)  Why the students do not need use their brain? (Spoon Feeding)
(iv)  Who are technocrats and scientific theorists? (The Limits of Human Power)
(v)  What thing 1s taking place in art instead of good humour? (Does Culture Matter?)
(vi)  Who fill the Grand Hotels and the pockets of their proprietors? (Why Not Stay at Home?)
(vit)  Why are athletics today a full time occupation for many people? (Amateur Athletics)
(viii) Describe the advent of the Great God Gun in your own words. (The Great God Gun)

(B) Answer any three of the following questions from (A New Anthology of Poems). 6

(1) Give the theme of the poem *“The Castle”,
(11) For what should we not count the cost to buy? (Barter)
(111)  What do flowers stand for in the poem “The Trees in the Garden™ _Ij

(iv)  What are the faults that the owl critic finds in the body of the owl?

(V) What is the central idea of the poem, “The Subalterns™?
(C) Read the following passage carefully and answer the questions given at the end. 4
Modern industrialists are like men who have come for the first time upon fertile virgin

land and can live for a little while in great comfortawith only a modicum of labour. It could be
irrational to hope that the present hey day of industrialism will not develop for beyond its present
level, but sooner or later, owing to the exhaustion of raw material, its capacity to supply human
need will diminish, not suddenly, but gradually. This could, of course be prevented if men exercised
any restraint or foresight in their present frenzied exploitation.Perhaps before it is too late, they will
learn to do so. But this is a question of politics, and I do not wish, as yet, to consider the political aspect
of our problem.

Questions: -

(1) What is the gist of the passage?
(1)  Why will the present hey day of industrialism fall off?

SECTION-II
3.(a) Define Poetry by giving examples. S
(b) Define Simile and Metaphor. 5
4. Critically appreciate the poem “Law”. 10
3 Write a letter to the Editor of a newspaper pointing out the evils of drug addiction
in our society and also suggest remedies about this. 20
6. Write a dialogue between a teacher and a student on the problem of terrorism in Pakistan. 20
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